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1. Describe what happens to the graph of a function if you make these changes
to its equation.

a) Replace x with x + 3. b) Replace x with x — 4.
¢) Replace y with y + 3. d) Replace y with y — 4.
e) Replace x with x — 2 and y with y — 2.
f) Replace x with x + 5 and y with y + 1.
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. Describe how the graph of y = x

Describe what happens to the equation of a function if you make these
changes to its graph.

a) Translate the graph 5 units right.

b) Translate the graph 8 units left.

¢) Translate the graph 2 units right and 7 units up.
d) Translate the graph 4 units left and 5 units down.

. The graph of a function y = f(x) is transformed as described below. The

equation of its image has the form y = f(x — ¢) + d. Determine the value of
¢ and d for each transformation.

a) Translate the graph 4 units down.

b) Translate the graph 4 units right.

¢) Translate the graph 3 units left and 2 units up.

d) Translate the graph 8 units right and 6 units down.

2 compares to the graph of each function.

a)y=x2—3 b) y = (x — 3)? t:)y:()(-*-3)2

. Describe how the graph of each function compares to the graph of y = |x|.

a)y=|x+4 b) y = |x + 4| )y =|x—4

. Describe how the graph of the second function compares to the graph of the

first function.

a)y=.x y=~+x-35
b)y=gx-1 ;v:%(,\-—3)—1
1

=1 i
€= Y=
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9. Sketch the graphs of these functions on the same grid.
a)y=.x-2 b)y=+x+3
)y=+x+3+2 B)y=+vx-2+3
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13. For each function f(x) defined by the diagrams below, sketch f(x), f(x — 2),
and f(x + 4).
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15. Later in this book, you will study the graph of the function y = log.x.
a) Describe how the graph of y = log(x — 2) + 7 is related to the graph of y = logx.
b) Write to explain why you can answer part a without knowing anything about
the graph of y = log.x.

16. Predict what the graphs of the equations in each list would look like. Use
your graphing calculator to check your predictions.

a)y=|r—1 b y=—15 6)y= 16— (x—4)
y =] y=1 y=v16 -’

i = 5 ; 1 s o 7 2
y=|x+1 V& y =16 = (x +4)
d)yy=|x+3+1 e)yf‘,i7+4 y=y4-(x—-27%+3

y=lx|+1 y=+<+4 y=v4-x*+3

Véd—-(x+2)2+3

y=|x=-3+1 y= +4 y




